RUSSIAN REVOLUTION
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I. LONG-TERM CAUSES OF THE REVOLUTION

A variety of factors had been leading up to the revolution in Russia for a long time. After reading each selection, determine what problem in Russia is being expressed.  Then, summarize that particular problem in 1-3 words. The first one provided is an example.

______________________________
In the late 1800’s, the ruling family of Russia, the Romanovs, sought to industrialize the country and build Russia’s economic strength.  Although the Romanov czars (kings) wanted to import western industrialization, they hoped to block the ideals of the French Revolution. Still, Russian liberals called for a constitution and reforms that would eliminate corruption in government.  Both Alexander III and Nicolas II, the Romanov czars, used harsh tactics such as the use of secret police, to suppress reform.  In 1905, a march occurred in St. Petersburg.  The peaceful marchers hoped to influence the czar for reform.  Nicolas called in the soldiers which he ordered to shoot and kill the marchers.  “Bloody Sunday” as it became known demonstrated the ruthless, corrupt, and authoritarian rule of the Romanov czars.
_______________________________
A rigid class system of social classes still existed in Russia at the beginning of World War I. Landowning nobles, priests, and an autocratic czar dominated society. A small middle class was prevented from gaining power.  Peasants faced many difficulties.  Most were too poor to buy land they worked.  Even those who owned land often did not have enough to feed their families. 

_______________________________

Some peasants had moved to cities and found jobs in new industries.  They worked long hours, and their pay was low.  Most lived in slums that were nests of poverty and disease. It was among these workers that communists spread ideas about revolution and reform.
_______________________________

Russia ruled a vast and diverse empire.  It included many ethnic minorities.  The czars maintained strict control over these groups.  Under the policy of Russification, czars attempted to make all in their empire think, act, and believe as Russians.  However, ethnic minorities did not want their native cultures destroyed. Pockets of nationalism remained.

II. SHORT-TERM CAUSES OF THE REVOLUTION   

___________________________

The outbreak of war in 1914 fueled national pride and united Russians.  Armies dashed out to battle with enthusiasm.  But like the Crimean and Russo-Japanese Wars, World War I quickly strained Russian resources.  Factories could not turn out enough supplies.  The transportation system broke down, delivering only a trickle of crucial materials to the front.  By 1915, many soldiers had no rifles and no ammunition.  Badly equipped and poorly led, they died in staggering numbers.  Most Russian farmers, not having the inventions of the West, had barely enough for themselves before the war.  As many men left for the warfront, there was no way the farms would be able to meet the demands of wartime needs without them.  By 1917, food and fuel shortages on the homefront had led to the collapse of the Romanov Dynasty in Russia.  On the advice of military and political leaders, the czar abdicated.(stepped down)
​​​​​​​​​​​​​​​​______________________________

Politicians set up a provisional, or temporary, government.  Middle class liberals in the government began to prepare a constitution for a new Russian republic.  At the same time, they continued the war against Germany which was an unpopular decision that drained away men and resources.  The new government implemented only moderate reforms that did little to end the unrest among peasants and workers.
Causes of the Russian Revolution

1. Autocratic Government—

2. Industrialization—

3. Russo-Japanese War—

4. Bloody Sunday—

5. WWI—
Provisional Government-____________________________________________________________________
Soviets:_____________________________________________________________________________________________________________________________________________________________________________                                                                              






Lenin Gains Support
Political party:________________________________ which eventually become the _____________________
Wanted to create _________________________________________________________________

Political slogan: ____________​​_______, ____________________, __________________

new symbol for government: __________________________________________________________________
Russian Civil War
Whites who were _________________________________________________________________________ vs. Reds who were ________________________________________________________________________

Who wins?  _____________________________________

USSR

Lenin organized the country into _______________________________________________________________

USSR stands for ____________________________________________________________________________
Lenin’s New Economic Policy (NEP)
policies: __________________________________________________________________________________
__________________________________________________________________________________________
The NEP was considered socialist not communist, why?

__________________________________________________________________________________________
Stalin means: _____________________________________ 
How was Stalin’s 5 year plan different than Lenin’s NEP?
_________________________________________________
_________________________________________________

_________________________________________________

_________________________________________________

The Great Purge: ___________________________________

_________________________________________________

_________________________________________________

_________________________________________________

Summary: Lenin is more ___________________, Stalin is more _______________________. 

Czarist Absolutism








